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Question Number : 1 Question Id : 67809417824 Display Question Number @ Yes Single Line Question Option : No Option
Oricntation : Vertical
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Question Number : 2 Question Id : 67809417825 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical
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(Question Number : 3 Question Id : 67809417826 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

If two rows or two colunms of a deternunant are identical then the value of the determinant is

Options :
™

| -

Cuestion Number : 4 Question Id : 67809417827 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

265 240 219
The value of 240 225 198] 1is
219 198 181

k-2

(Question Number : 5 Question Id : 67809417828 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Yertical

=
[

The adjoint of the square matrix A =

s D

Options :

.3 = LN

1

1

15
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Question Number : 6 Question Id : 67809417829 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Resolve mto partial fractions

Options :
G L 5
| 2i-1  3i-1
10 15
R e | Ir—1
11 7
I 5 i | Zpe=]
3.
1 2
4 2—=1 S —l

(2x—1)(3x—1)

Question Number : 7 Question Id : 67809417830 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Resolve mto partial fractions

Options :
>

=

7 Heh |

1.

(-1 (x-2)
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Cuestion Number : 8 Question Id : 67809417831 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 1 - -
IftanA = - and tanB = < then tan(A — B) =
Options :

1
|7

-1
27

1
3 5

1
4 3

Question Number : 9 Question Id : 67809417832 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of cotZA + tanA —

Options :
| SInZA
+ CO0S2A

sec2A

s

- cosecZA

P

Question Number : 10 Question Id : 67809417833 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options :

¢ sin/\

v cosA

tanA

—

4 cotA

Question Number : 11 Question Id : 67809417834 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. .. T ., 2 . 3m . 4m
Thevalueof sin—sin—sin—s8in— =
5 5 5 3
Options :
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1 15
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2. 16
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Question Number : 12 Question Id : 67809417835 Display Question Number @ Yes Single Line Question Option : No Option
(wrientation : Vertical

The value of c0s20° 4 cos100° + cos140° =

Oplions :

O

s
'—
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The value of Y a(b? + ¢?)cosA is

Options :
| 2abce

s

Question Number : 14 Question Id : 67809417837 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. 9 L T T & O T
The value of (a — b)*cos® (E) + (a + b)?sin® (E) is

Options :

6

» O

CS

L

; C°

Question Number : 15 Question Id : 67809417838 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 1 .
The value of 2tan (E) + tan 1 (-;) 15

Options :

, w4

.;r[l,-'-':}
3. T[J'IIG
4 T3

Question Number : 16 Question Id : 67809417839 Display Question Number @ Yes Single Line Question Option : No Option

collegedunia:s

India’s largest Student Review Platform



Oplions :
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(Question Number : 17 Question Id : 67809417840 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

4 1 -1 - it 5 :
Iftan™'x+ tan™'y + tan~'z = T then the value of xy + yz + 2x 1s

Oplions :

L=l
1.3
300
4.1

Question Number : 18 Question Id : 67809417841 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The modulus of a complex number v3 +1{ 1s

Oplions :
-

L. ==

s
I-2

Cuestion Number : 19 Question Id : 67809417842 Display Question Number : Yes Single Line Question Option : No Option

Mrientatinn « Verticral
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Options :
| 2cosn0
» -2 cosnt

| 3 cosf

Ll

2 sin nf
4,

Question Number : 20 Question Id : 67809417843 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

The centre of the circle:x? 4 y2 2x 1 6y —6=0 13

Oplions :

¢ (1:3)

4

Pl
[~
T

R

e
N

(%)
f—

L (-1.3)

Question Number : 21 Question Id : 67809417844 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of the circle: 5x% + 5y? — 6x + 8y — 75 =0 is

Oplions :

| -4

L
-2

TJ_J

Question Number ;: 22 Queslion Id : 67809417845 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ecnation of the narabola with vertex (2. —1) and foens (2. —3) ic
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x?  Ax gy — 12

-

x2+4x -8y 12 =0

o

%% 4 5x —~8y - T1L =0

Cuestion Number : 23 Question Id : 67809417846 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The centre of the ellipse: 9x% + 25y% — 18x + 100y — 116 =0 is
Options :

(2 1)

(~1:—2)

Lo

(L, 2)

e

z. (3r2)

(Question Number : 24 Queslion Id : 67809417847 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¥

- - X B ;
The focus of the hyperbola———=1 15
’ 25 144

Options :

 (-13,0)

. (13,0)

, (13,1)

Cuestion Number : 25 Question Id : 67809417848 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the major axis of the ellipse: 4x 2 -+ 3y? = 48 is

collegedunia:s

India’s largest Student Review Platform




11

-

]

(Question Number : 26 Queslion Id : 67809417849 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

v —1
r—1

The value of limy_y

Options :
i 3

—
]

Question Number : 27 Queslion Id : 67809417850 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

_ a+bx | o ) | |

It y= o then the derivative of ¥y with respect to X 1s
Options :

a‘+h-
{ (b—ax)?

aZ+h?
v (b+ax)=

g% -b*
_ (b-ax)?
.

a+b
4 (b—ax)?

Ouestion Number : 28 Ouestion Id : 67809417851 Displav Ouestion Number : Yes Sinele Line Ouestion Ontion : No Obption
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Options :

1 (x — 3)x%e®

(e— 2)n"e®

-

(x 1 3)x?%e*

)

(x — L)x3eX

Question Number : 29 Question Id : 67809417852 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ay

X

If v =secx +tanx then 1S

Options :

| Y cosx
, ysecx
. —Y8Inx
J

tan x
47

Question Number : 30 Queslion Id : 67809417853 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2+3sinhx

HTy= —— then the derivative of y with respect to x 18
2+2sinhia
Options :
5coshx

 (3+2sinh Ty

Ssinha

(3+2sinhx)<

-

5sinx

; (3-2coshx) =
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Question Number : 31 Question Id : 67809417854 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g fl—cusx ay .
[fy= |—— then =— 15

\ l14+cosx (o

(Iptions :

- A
sec” (—)
1 2

Lo

Question Number : 32 Question Id : 67809417855 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between the curves y = x2% 4+ 3x — 7 and y2 =2x +5 at(2,3) is
Options :

1 tan =2

-

seclh =2

. cosh =1

mé =3

(Question Number : 33 Question Id : 67809417856 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The range of X for which the function x® 3x?  45x | 2 isincreasing with X is

Options :

. (3,-5)
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, (35)

, (=35)

Question Number : 34 Queslion Id : 67809417857 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of the function 2x2 — 12x2 4+ 18x 4+ 5 1is

Oplions :
f, L3

12

-

s

P
i
_h

(Question Number : 35 Question Id : 67809417858 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o . i . ou du
[fuis a homogeneous function of x and y with degree n then x 5 | P
Options :

1. —nu
s néu
. Nu
J,
2 i
g Ut u

(Question Number : 36 Question Id : 67809417859 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of | ———dx is

A

Options :

| 2sinvx t ¢
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_2simx + ¢
.

; smyx 1 ¢

Question Number : 37 Question Id : 67809417860 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

. ax ;
The value of r = I3
Va-—x<

Oplions :

1 AL
sin~ 1 (—) fes
2 a
. s X
ginh (H) + C
3 g
. a
i~ (—) +C
4. +

Question Number : 38 Question Id : 67809417861 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

ax

The value of ( e

B s o B o o [

Oplions :

1,
1 2x+1
~cot 1( )‘l—C

) HA
1 < (2v+1
~sin 1( +c

3, 4

4 {21 1
Stan | - )—rC
; 4
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The value of J logx dx is

Oplions :

| xlogx+x+c¢

leegx x | c

xlogx — %+ ¢

]

b
il

:
xlogk ——+
2

Question Number : 40 Question Id : 67809417863 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. d — 1 :
The value ot Jl (vx + _T) dx 1s
VX

Oplions :

20
I a3

_ 0

10
: 3
J.

J._S_
g 7

Question Number : 41 Question Id : 67809417864 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

% M2 L e
The value ot ’ sin? x dx 1s

Options :
T
1 I 2
T
S 4
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Cuestion Number @ 42 (Question Id : 67809417865 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area enclosed between the curve y? = 4ax and the line x = 2y is
Options :

64 .
— $(]. UNIts

64

— 8(. UNIts

65 :
: 5. units

L

63 .
: s¢.units

Cuestion Number : 43 (Question Id : 67809417866 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s 1 1 1 ,
The value of limy [— + — 4+ —] is
n+1 n+2 n=n

Options :
, log?2

. log3
9 log?2

logn

(Question Number : 44 Question Id : 678094178067 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Form the differential equation by eliminating the arbitrary constant @ from ay” = x?3

Oplions :

collegedunia:s

India’s largest Student Review Platform



1 Ll LX

dy _ 2
) (11 3Y

v _x
348 )

ty _ 2y
4 8 % K

Cuestion Number : 45 (Question Id : 67809417868 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

_—

The solution of 1 — ¥2dx ++v1 —x2dy =0 is

(Iptions :

,cosTtxtcosTty=c

) cos lx fsecTlx=c
3.
W T T
sin “x +8smn "y=¢c
4.

Question Number : 46 Question Id : 67809417869 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: .4y | :
The solution of e (4x +v +1)?% is

Oplions :
1 =0 I/'-ft'l'ﬂb"[—l\ .
—tan ‘L,—):'X—‘—C
Z 2 y
1.
1 1 (4x+y+1
“cot T |/——)=x+c
R \ 2 .

1 4 [dr+yv+1
- =tan l(f) =x +€

£

e
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(Question Number : 47 Question Id : 67809417870 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i i e ; ; 3 ;
The solution of exact differential equation 2xy dx + x“dy = 0 is

Options :

P
Ry
s XA =

By
; Xy =c¢
4 x2y3 = ¢

(Question Number : 48 Question Id : 67809417871 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: . ay _x .
The solutionof _—ty =e Y s

Options :

) (x + cle™™

(x—c)e*
(x+c)e?
3

C LAY 2
i (x + c)e™*

Question Number : 49 Question Id : 67809417872 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of (D¢ + 5D + 6)y = eV is

Options :
—p~X
;| 12
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Cuestion Number : 50 (Question Id : 67809417873 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The complementary function of (D? + 3D + 2)y = 8sinSx is

Options :
cie™™ 4 e
1.

]

Physics
Number of Questions: i

Display Number Panel: Yes
Group All Questions: No

Cuestion Number : 51 Question Id : 67809417874 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is not the unit of energy?

Options :
1 watt second

. Pascal metre
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4 Kilowatt hour

Cuestion Number : 52 Question Id : 67809417875 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The height of Mercury barometer is 76 cm and density of Mercury is 13.6 g/cc. The

corresponding height of water barometer in Sl system is

Options :
10.336 m

103.36 m

-

s
LA
o
—
-
4

4 1.0336m

(Question Number : 533 Question Id : 67809417876 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Angle made by the vector (V3 i + j) with the X-axis is
COptions :

1 /2

/4

-

/3

ey

4 TU/0

Cuestion Number : 54 (Question Id : 67809417877 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The minimum number of unequal forces in a plane that can keep a particle in equilibrium is

Options :

. 4
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Question Number : 535 Queslion Id : 67809417878 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body is thrown with a velocity of (47 + 3j) m/s. The maximum height attained by

the body is (g=10 ms™)

Options :
[ 2.0m

-

45 m

| 0.8 m

[N

| 0.45 m

Question Number : 56 Question Id : 67809417879 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

A person in a lift, which ascends up with acceleration 10ms™, drops a stone from a height of

10m. The time of descent is (g=10 ms'z)

Oplions :

| 05s

w 1 5

1.55

s

(Question Number : 57 Question Id : 67809417880 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a projectile, the ratio of maximum height reached to the square of time of flight is

(Iptions :
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(Question Number : 538 Question Id : 67809417881 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratio of distances travelled by a body, starting from rest and travelling with uniform

acceleration, in successive intervals of time of equal duration will be

Options :

1. 1:2:3

e

-

3 15305

1286

=

Question Number : 59 Question Id : 67809417882 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

A tforce of 12 N acts on a body of mass 4 kg placed on a rough surface. The coefficient of
friction between body and surface is 0.2 and take g= 10 ms ™. The acceleration of the body in

ms = is

Oplions :

L

—

(Question Number : 60 Question Id : 67809417883 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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brakes will stop the train in a distance which is

Oplions :

. d/f2

-

4d

]

4 d

Question Number ; 61 Question Id : 67809417884 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The product of linear momentum and velocity of a body represents

Oplions :

Kinetic energy of the body

Potential energy of the body
Half the Kinetic energy of the body

Twice the kinetic energy of the body

Question Number : 62 Queslion Id : 67809417885 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A man weighing 60 kg eats plum cake whose energy content is 9800 calories. If all this

energy could be utilised by him, he can ascend to a height of

Options :

[ 17 m

» 100 m

70m

s

4 60m
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Orientation : Yertical

A crane can lift up 10,000 kg of coal in 1 hour from a mine of depth 180m. If the efficiency of

-
=

)

the crane is 80%, its input power must be (g=10 ms

Options :

| 62.5kw
. 6.25 kW

50 kw

(]

5 kW

Question Number : 64 Question Id : 67809417887 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The graph of acceleration as a function of displacement in the case of a body executing
simple harmonic motion is
Options :

1 Parabola

-

Hyperbola

Straight line with positive slope

Straight line with negative slope

Question Number : 65 Question Id : 67809417888 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The pendulum of length 'L swings from mean position toc mean position 'n’ times in one

second. The value of acceleration due to gravity is

Options :
| el

TN
s 2mn’L
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Question Number : 66 Question Id : 67809417889 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

When a source of sound is in motion towards a stationary observer, the effect observed is

Options :
Decrease in velocity of sound

. Increase in velocity of sound
increase in frequency of sound

decrease in frequency of sound

Question Number : 67 (Question Id : 67809417890 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of a male person is different from that of a female person hecause

Options :
1 Two sounds have different phases

Two persons are of different size
Two sounds travel with different velocities

Two sounds have different pitch

Question Number ;: 68 Question Id : 67809417891 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the sound absorption of a hall is changed by 2%, then the percentage change in the

reverberation time is

Options :
| 2%
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3 1.»’:2!

No change
4.

(Question Number : 69 Question Id : 67809417892 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following process, the internal energy of the system remains constant?
Options :

Adiabatic

P

. lsothermal
|5<:1i?:arir;.

lsochoric

o

Question Number : 70 Question Id : 67809417893 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

Heat required to raise the temperature of one gram of water through 1 Kis

Oplions :
1.0 Kcal

-

-

D1 Kcal
5 0.01 Kcal

i 0.001 Kcal

Cuestion Number : 71 Question Id : 67809417894 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The specific heat of a gas in an isothermal process is

Oplions :
| infinity
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Finite positive
J.

; Finite negative

Question Number : 72 Queslion Id : 67809417895 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Specific heat of aluminium is 0.25 cal/g/°C. The water equivalent of an aluminium vessel of
mass one kilogram is

COptions :

40 cal/°C

-

400 cal/°C

250 cal/~C

25 ea 1/°C

Ja

(Question Number : 73 Question Id : 67809417896 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What should be the percentage increase in the pressure so that the volume of a gas may

decrease by 5% at constant temperature?

Options :

Question Number : 74 Question Id : 67809417897 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical
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function is 2.2 eV, then the wavelength of incident radiation is

Oplions :

. 4000A
2000A

3000A

(]

, 20004

(Question Number : 75 Question Id : 67809417898 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the angle of incidence of a ray is greater than the critical angle at the core — cladding
interface in an optical fiber, then the ray travels
Options :
in the core
in the cladding

in the buffer

along the interface

Chetmstry
Number of Questions: 25
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Queslion Id : 67809417899 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pauli's Exclusion principle states that two electrons i same orbital have

Options :
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cdifferent spins
_ Opposite spins
J.

verncal spins

Cuestion Number : 77 Question Id : 67809417900 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Orbits 1n which electrons move according to Bohr are
Options :

. elliptical

cvlindrical
g circular

i oval

Cuestion Number : 78 Question Id : 67809417901 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Phosphorus has an atonmuic number of 15, A stable phosphorus atom has an electronic
configuration of

Oplions :

2 ? -0
) 15_25'.-_1J6:ﬁp'

L AL
C 1s725729%3s3p 4
a.

: 15311}61d?

Question Number : 79 Question Id : 67809417902 Display Question Number : Yes Single Line Question Option : No Option

Orrientation : Vertical
gcollegedumaa
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Oplions :

. Covalent

-

- Tonic

Polar

Ll

~vander Waals

d=

(Question Number : 80 Question Id : 67809417903 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Bond formed due to sharing of electrons 1s

(Iptions :
. Tonic bond

i Netallic bond

Polar bond

Ll

~Covalent bond

N

Question Number : 81 Question Id : 67809417904 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The normality of solution obtained by dissolving 5.3 grams of Na-CO; mn 1 litre
solution 15

Oplions :

; LN

-

0.IN

0.05N

L]

, 0.5N

Question Number : 82 Question Id : 67809417905 Display Question Number : Yes Single Line Question Option : No Option

Orientation @ Vertical
Fy s
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Options :

[ XﬁgC()g

> Na('l

L
|

Cuestion Number : 83 Question Id : 67809417906 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

5 moles of a solute 15 dissolved m 10 litres of solution. What 1s 1ts molarity?

Options :

12 M

=+
-2
"
==

]
-
rn
';;;7-J

C0.2M

B [

(Question Number : 84 Question Id : 67809417907 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Process m which acids (H ) and bases (OH) react to form salts and water 1s called
Oplions :

1 Neutralization

. Halogenanon

Hydrogenatuon

3 Hvdrolvsis

(Question Number : 85 Question Id : 67809417908 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
gcol legedunia:
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Options :
, Lewis acid

| [ewis base

Lo

Bronsted-Lowry acid

p Bronsted-Lowry base

(Question Number : 86 Question Id : 67809417909 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One Faraday 1s equal to

Oplions :

| 99650 C

-

193100 C
. 96300 C

194500 C

i

Question Number : 87 Question Id : 67809417910 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The cell reaction of a cell is Mg(s) + 2 H (aq) — I\-’Ig3+{;a(1j} + Hx(g). If the standard

reduction potential of Znis —2.372 V. then the emtf of the cell 15
Options :
{ FL.32 N
g = LTIV
; 0.00V

(Juestion Number : 88 Question Id : 67809417911 Display Question Number : Yes Single Line Question Option : No Option
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Oplions :

. Electrical energy to chenucal energy
Chemical energy to electrical energy
Chemuical energy to free energy

Potential energy to kimetic energy

Question Number : 89 Question Id : 67809417912 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

Mass of substance produced at electrode 1s directly proportional to the quantity of
electricity passed. This 1s known as

COptions :

. Faraday's second law

Faraday's first law
; Newton's third law

; Newton's first law

Question Number : 90 Question Id : 67809417913 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

Hardness of water 1s expressed i terms of equivalent of
Options :
1 Na-CO;

K->CO;

i_\'[g(:q(:)g

]

Ca C(:)3

L ]
gcollegedunlaa
India’s largest Student Review Platform

]



Temporary hardness 1s caused by
Oplions :

. Carbonates of calcium and magnesium
Chlorides of calcium and magnesium
Sulphates of calcium and magnesium

Nitrates of Calcium

Cuestion Number : 92 Question Id : 67809417915 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The exhausted zeolite bed can be regenerated by washing with

Oplions :

, NaCl

dil. NaOH

-

~dil. HC

L]

Distilled water

45

(Question Number : 93 Question Id : 67809417916 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Corroston 1s an example of

Options :

Oxidation

]

. Reduction

Electrolvsis

]

Halogenation

L ]
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The composition of rust 15

Options :

. Fe(OH);

FCCI_:-,

-

FeO

(]

FE’;O}. XHEO

(Question Number : 95 Question Id : 67809417918 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one ot the following statement 1s not true?
Options :
Natural rubber has the trans-contiguration at every double bond

Buna-S 1s a copolymer of butadiene and styrene

Natural rubber 1s a 1. 4-polyvmer of 1soprene

o

In vulcanization. the formation of sulphur bridges between different chains
makes rubber harder and stronger

(Question Number : 96 Question Id : 67809417919 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The monomers of Buna-S rubber are

Options :
Styrene and butadiene

1
Styrene and 2-propene
, [soprene and butadiene

L ]
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Question Number : 97 Question Id : 67809417920 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The plastics which soften when heat 1s applied with or withourt pressure. but require
cooling to set them to shape are called as

Options :
1 Thermosoftmg materials

Thermosetung materials

Thermoplastic materials

Ll

; Thermostatting materials

Question Number : 98 (Question Id : 67809417921 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statement 1s not true about ideal tuel?

Options :
. High caloritic value

High moisture content

-

- Low cost

(]

, Moderate 1gnition temperature

Question Number : 99 (Question Id : 67809417922 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Enviromuental pollution attects

Oplions :

Humans onlv
i J

. Plants only

gcollegeduniaa
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) Both abiotic and biotic components

(Question Number : 100 Question Id : 67809417923 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Laver of atmosphere i which ozone laver lies 1s
Options :

. Troposphere

Stratosphere

Exosphere

, Mesosphere

Electronics and Conununication Enginesrmg

Number of Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 67809417924 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

One eV of energy 1s equal to
Options :

L6 10700

1.6 210177

-

9« 1077

]

. -19
, 901077
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In a semiconductor diode. the barrier potential ofters

Options :

Opposition to minoerity carriers m N-region and majority carriers m P-region
1 )

Opposition to majority carriers m both regions

-

Opposition to minority carriers m both regions

Opposition o minority carriers m P-region and majority carriers i N-region

Cuestion Number : 103 Question Id : 67809417926 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Hall eftect 1s used to measure
Options :

Magnetic field mtensity
L.

Barrier concentration
Carrier concentration

Electrostatic field mtensity

Question Number : 104 Question Id : 67809417927 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The regulation of an 1deal rectifier should be
COptions :

negative
1.

ity

IIBOQh

Ll

L ]
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Question Number : 105 Question Id : 67809417928 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

The source terminal of a FET 15 analogous to of BIT

Options :
1 Substrate

Collector

LA

Base

Ematter

(Question Number : 106 Question Id : 67809417929 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The base ma BIT 15
Oplions :
1 Thin and heavily doped

Thick and heavilv doped
Thin and Lightly doped

Thick and lightly doped

(Question Number : 107 Question Id : 67809417930 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When compared to the BJT. the JEET has much less
Options :

| Voltage gam

_ Bandwidth

gcollegeduniaa
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, Voltage supply

Question Number : 108 Question Id : 67809417931 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

The maxmum etficiency of Class B amplitier 18

Oplions :

L 859

66 %o

]

:f | D*"-::a

Question Number : 109 Question Id : 67809417932 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the tollowing amplifiers is called Emutter tollower?

Oplions :

L CC

LA

(B

Ck

s

JFET

Question Number : 110 Question Id : 67809417933 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Voltage shunt teedback amplifier 1s also called

Options :

| Transresistance amplifier

gcollegeduniaa
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. Voltage amplifier

Current amplifier

Question Number : 111 Question Id : 67809417934 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Neganve teedback 1s also known as
Options :
1 Direct teedback

Regenerative feedback

Degenerative feedback

)

Reverse feedback

Question Number ;: 112 Question Id : 67809417935 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The output voltage of a CE amplifier 15
(ptions :

| 180~ out of the phase with mput

90~ out of the phase with mput

same phase as that of the mpur

-

, 2707 out of the phase with input

Question Number : 113 Question Id : 67809417936 Display Question Number : Yes Single Line (Question Option : No Option

Orientation : Vertical
gcol legedunia:
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, Class A amplifier
Class B amplifier

Class C amplifier

CQuestion Number : 114 Question Id : 67809417937 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One of the conditions of Barkhausen criterion 18

Oplions :

 AB=1
LAB=0
. AB=29
L AB=1/2

Question Number : 115 Question Id : 67809417938 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Which of the tollowing circuits works like an oscillator?

Options :
1 Schmutt Trigger

Nonostable multivibrator

Bistable multivibrator

Astable muluwvibrator

(Question Number : 116 Question Id : 67809417939 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
gcol legedunia:
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-

Selectivity

Quality factor

L

. sSusceptance

Question Number : 117 Question Id : 67809417940 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

Any two ternunal networks consisting of one or more generators can be represented

with an EMFE source m series with an impedance. This 1s the statement of
Options :
. Norton's theorem

Reciprocity theorem

Thevenin's theorem

Ll

, Compensation theorem

(Question Number : 118 Question Id : 67809417941 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Superposition theorem can be applied to circuits only

COptions :
, Linear

~ Non linear

-

AC

]

4 DC

Question Number : 119 Question Id : 67809417942 Display Question Number : Yes Single Line Question Option : No Option

Orientation @ Vertical
Fy s
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Options :
; greater than load resistance

lower than load resistance
equal to load resistance

ZC10

Question Number : 120 Question Id : 67809417943 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

High pass RC circuit acts as an
Options :

1 Difterentiator when RC 1s small
Differentiator when RC 1s large

Integrator when RC 15 large

]

, Integrator when RC 15 small

CQuestion Number : 121 Question Id : 67809417944 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A clamping circuit adds component

Options :

L AC

DC

-

“both AC and DC

et

“nerther AC nor DC

TIa

L ]
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In a ransnussion lime. 1f the load 1s purely reactive. the value of SWR 15 equal to
Oplions :
| Infinity

5 £E10

unity

—

4 100

Question Number : 123 Question Id : 67809417946 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Loading of a transmission lie 15 the process of
Options :

a dding resistance to the line

adding capacitance to the line

addmg conductance to the lme

L

; addmg mmductance to the line

Question Number : 124 Question Id : 67809417947 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Q meter works on the principle of
COptions :

| Series resonance

parallel resonance

-

self mductance

e

) mutual imnductance

L ]
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Orientation : Vertical
A VTVM has

Options :

high loading effect on purely resistive circuits

negligible loading effect on circuits due to its high mput mpedance
negligible loading effect on curcuits due to 1ts low mput impedance
low loading effect on inductive ¢ircuits

Question Number : 126 Question Id : 67809417949 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Multmeters generally do not have facility for the measurement of

Options :

| frequency
resistance
culrent

; voltage

CQuestion Number : 127 Question Id : 67809417950 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

bridge 15 used for the precise measurement ot mductances over a

wice range

Options :

, Weim's

. Anderson

L ]
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; Maxwell

Question Number : 128 Question Id : 67809417951 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

Saw tooth voltage in CRO 15 produced using
Options :

| SWeep generator

Colpitts oscillator

-

Hartley oscillator

s

, RC phase shift oscillator

Question Number : 129 Question Id : 67809417952 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 10NMHz CRO has 10 N[Hz

Options :
| Sweep

supply frequency
verncal oscillator

; horizontal oscillator

Question Number : 130 Question Id : 67809417953 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

A thermocouple 15 a type transducer

Options :
1 variable resistance

_ variable mductance
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; voltage divider

Question Number ; 131 Question Id : 67809417954 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

An LED causes emuission of light due 1o

Options :

; emission of electrons

generation of electromagnenc radiaton

conversion of heat energy mto light energy

L

) photovoltaic effect

Question Number : 132 Question Id : 67809417955 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Once SCR starts conducting a forward current. its gate loses control over

Options :
| anode circuit voltage onlv

anode circuit current only

anode circutt voltage and current

L

anode circuit voltage. current and time

(Question Number : 133 Question Id : 67809417956 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An mverter 18 a curcurt which
Options :
1 converts A.C power to D.C power

gcollegeduniaa
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_converts A.C power to D.C power and vice-versa

3

, Converts D.C power to A.C power

Question Number : 134 Question Id : 67809417957 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cvclo converters require
Oplions :

1 forced commurtation n step-up cyclo converters

forced commuratuon i both step-up and step-down cyclo converters

forced conunutation 1 step-down cyclo converters

s

natural commutation m both step-up and step-down cyclo converters

Question Number : 135 Question Id : 67809417938 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a conununications system. noise 1 most likely to aftect the signal
Options :

. at the ransmitter

. 11 the channel

in the mformation source

]

1 the destination

Question Number : 136 Question Id : 67809417959 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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POWer 15

Oplions :

, tnchanged

halved
increased by 50 percent

; doubled

(Question Number : 137 Question Id : 67809417960 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Balanced modulation produces

Options :

. DSB

AM

-

L

V5B

—

SSB

Question Number : 138 Question Id : 67809417961 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s an indirect method of generating FM?

Oplions :

1 Varactor diode modulation

Armistrong modulation

Reactance BJIT modulator

]
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Question Number : 139 Question Id : 67809417962 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Modulation mdex i an FM signal

Options :
vartes directly as frequency deviation and mversely as the modulation frequency

varies cdirectly as the modulation frequency
, varies mversely as the deviation

; has no relation to frequency and modulation

(Question Number : 140 Question Id : 67809417963 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A recerver producmg an accurate reproduction of the modulating signal 1s said

o have

COptions :

1 wide bandwidth

good fidelity
high sensitivity
better selectivity

Question Number : 141 Question Id : 67809417964 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The frequency of microwaves 1s

COptions :

| 1more than 2000 NHz
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. 15 MHz

. 15KHz

Question Number : 142 Question Id : 67809417965 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Nyvquist rate of a signal with maximum frequency t, 18

Oplions :
1 I samples/sec

1/, samples/sec

L5t samplesisec
J.

; 21, samplesisec

Cuestion Number @ 143 Question Id : 67809417966 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Quantization 1n01se OCCuUrs 1

Options :

 EM
, PPM

PCM

PWM

i

(Question Number : 144 Question Id : 67809417967 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The modulation technique that uses the mmmmum channel bandwidth and

gcollegeduniaa
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Double side band suppressed carrier modulation
vestigal side band modulation

single side band modulation

Question Number : 145 Question Id : 67809417968 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

Electrical length of an antenna 1s
(ptions :
1 Equal to 1ts phvsical length

Smaller than 1ts physical length
Greater than 1ts phvsical length

May be greater or smaller than 1ts phvsical length depending on the

frequency of radiation

(Question Number : 146 Question Id : 67809417969 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The gain of an isotropic antenna i dB 1s

Options :

1. 0

10

s

100

o

Question Number : 147 Question Id : 67809417970 Display Question Number : Yes Single Line Question Option : No Option

Orientation @ Vertical
L ]
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Options :

1 IEq;

-

TEq

TMo

(S

TM;;

(Question Number : 148 Question Id : 67809417971 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The K band frequenncy range of radars 15

Options :

stol2GHz

—

12t0 18 GHz

18 to 27 GHzZ

Ly

\ 2510 44 GHzZ

Question Number : 149 Question Id : 67809417972 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

The blind speed problem n radars can be solved by
Options :
1 using monopulse

varving the Pulse Repetition Frequency

usiig MTI

changing the doppler frequency

gcollegeduniaa
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The communication path from a satellite to a ground station 1s called

(Iptions :

) cutt link

missing limk
. Uplink
1

] Downlink

Question Number : 151 Question Id : 67809417974 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Claddmg m optical fibres 1s used to

Options :
. protect the fibre

guide the light back mto the tfibre

-

“to absorb the light

(]

to grve strength to the fibre

CQuestion Number : 152 Question Id : 67809417975 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In single mode step mdex fibre. the light travels i

Options :
a curved path

I
a randon zig zag path

by retlections from the cladding

, a single path

L ]
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The orbital period of a satellite 15 proportional to

Options :

)

na

Lad
(RS}

Lo
=

Question Number : 1534 Question Id : 67809417977 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first Indian communication satellite 1s

Options :

Aryabhatta
L

-

~Rohmu

INSAT TA

Ll

, APPLE

Question Number : 155 Question Id : 67809417978 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Helical antenna 1s

Options :

| Horizontally polarised

Vertcally polarised
Crircularly polarised

Ellipucally polarised
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The Doppler effect 1s used in

Options :

MTI

pulse radar

FM

e

Alumeter

Cuestion Number : 157 Question Id : 67809417980 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following modulation techniques s used in AMPS?

Oplions :

. AM

FM

-

PM

s

i PCM

CQuestion Number @ 158 Question Id : 67809417981 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s the expression for Povating's theorem?

Options :
L ==PxH
. H=EDPEE
;, = H~E
i P=EXH

L ]
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The tracking technique that derives angle error information on the basis of

a sigle pulse 15 known as
Options :

. Lobe switching

Conical scan

Monopulse

L

) Dual Pulse

CQuestion Number : 160 Question Id : 67809417983 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sum of the two octal numbers 64¢ and 165515
Options :

" 20g

25]1g

‘?'}_93

]

240¢

Question Number ; 161 Question Id : 67809417984 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The decimal equivalent of Excess- 3 number 10011010 15

Options :

1 47
2 67

o
. 95

L ]
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(Question Number : 162 Question Id : 67809417985 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s an universal gate?
Options :

. EX-OR gate

. AND gate

. NAND gate

i

- OR gate

Question Number : 163 Question Id : 67809417986 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s the slowest logic family?

Options :

1. PMOS

-

CMOS

ECL

L

. TTL

Question Number : 164 Question Id : 67809417987 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The full adder can be constructed using two half adders and one

Options :

, AND gate

NAND gate

-

OR gate

gcollegeduniaa
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Question Number : 165 Question Id : 67809417988 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When both the I and K mputs of an edge trigeered JIC tlip tlop are 1.then

the thip tlop 15 1

Options :

Race around condition
1.

Synchronous condition

Toggle condition

Reset condition

(Question Number : 166 Question Id : 67809417989 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The munimum number of flip flops required to count up to 15 15

Oplions :
1 D

. 4

6

s

Question Number : 167 Question Id : 67809417990 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

A flip tlop 15 used to store

Oplions :

,a word

. abyte
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, anibble

Cuestion Number : 168 Question Id : 67809417991 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One of the advantages of a dynamic RANM 13

Options :
| 1tneeds to be refreshed periodically
it 1s small and occupies less space

it has a large access ume

it makes use of MOSFETs

2

Question Number : 169 Question Id : 67809417992 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The time taken by a DAC to stabilize to within !> LSB of its final value 1s

rermed

Options :

, ¢ycle ime

. AcquIsItion e

; settling tune

access tme

(Question Number : 170 Question Id : 67809417993 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In 8051 external mterrupts are controlled by

Options :

1 SCON
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4,

K

IP

Question Number : 171 Question Id : 67809417994 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

Length of the program counter i 8051 13

Options :

1.

Ll

16 bits
32 birts
A48 bits

8 Dits

Question Number : 172 Question Id : 67809417995 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

MOV AL 40H belongs to

Options :

J—

-

Cimmediare

indexed

1

T

register mdirect

| direct

addressing mode

Question Number : 173 Question Id : 67809417996 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Number of addressing modes m 8051 15

Options :

-

]
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Question Number : 174 Question Id : 67809417997 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

PIC 8259154 pin chip

Options :

|28

-2

[
S
™,

(Question Number : 175 Question Id : 67809417998 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The register mn the 8085 A that 1s used to keep track of the memory address

of the next op-code to be run m the program 1s the

Options :
stack pointer

—

Istruction pointer

-

; accumulator

program counter

(Question Number : 176 Question Id : 67809417999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The SOS5(A)1s a

(Iptions :

; 15 bit parallel CPU

. 8 bit parallel CPU
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; 8 bit senal CPU

Cuestion Number : 177 Question Id : 67809418000 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The five flags in 8085 are designated as

Oplions :
1 D.Z.S.Pand AC

s GO0 P and AC

L.C.S.P and AC

s

Z.CY.S.Dand AC

Cuestion Number : 178 Question Id : 67809418001 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A dedicated Intel kevboard/display controller 1s

Options :
. 8251

3239

-

s

Question Number : 179 Question Id : 67809418002 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

RS 232 standard 15 meant for
Options :

. Serial Data Transter

1 Parallel Data Transter
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, Data Encryption

Question Number : 180 Question Id : 67809418003 Display Question Number : Yes Single Line Question Option : No Option
(wrientation : Vertical

The three primary colors are
Options :

red. blue and green
L

red. orange and blue

-

red. green and vellow

red. yellow and blue

Question Number : 181 Question Id : 67809418004 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The aspect ratio m the TV system 1%
Options :

Ratio of raster height to the raster width
Ratio of raster width to the raster height

Ratio of raster chagonal to the raster width

L

; Rartio of raster diagonal to the raster height

Question Number : 182 Question Id : 67809418005 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Flyback 1s the name given to ma [V

Options :
1 Horizontal retrace
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; Diagonal retrace

Burst
4,

Question Number : 183 Question Id : 67809418006 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

In a low level AM transmutter. the stage followimng the modulator 1s

Options :
1 Harmonic generator

Class C amplitier

-

Non linear amplifier

Linear amiplifier

Question Number : 184 Question Id : 67809418007 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An MP3 tfile encoded at a lower bit rate will generally play back at

COptions :
1 Higher quality

-

Lower quality

Same quahty

Y

No relation with quality

Question Number : 185 Question Id : 67809418008 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which ot the following topologies requires a mulfi point connection”

Oplions :
| Star
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3 Bus

4 MNesh

(Question Number : 186 Question Id : 67809418009 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In OSI Model. the laver lies between transport laver and the application
laver

COptions :
1 Session layer

Network layer
Data link layer

Physical layer

Cuestion Number : 187 Question Id : 67809418010 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The address uniquely defines a host on the Internet.

(Iptions :

1 physical

-

logical

MAC

Lo

g 1P

(Question Number : 188 Question Id : 67809418011 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IEEE standard describes the token ring

Options :
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(Question Number : 189 Question Id : 67809418012 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

GPRS 13 an extension of svsten.

Oplions :

| GSM

CDNIA

-

WCDMA

(]

OFDM

Question Number ; 190 Question Id : 67809418013 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The switchmyg technique used m ATM 15

Oplions :
, Circuit switching

_ packet switching

st

Message switching

Virtual circuat switching

Question Number : 191 Question Id : 67809418014 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the followimg 1s a language used tor creaung web pages?

Options :
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; HLLNL

BHITE

s

\ MATLAB

Question Number : 192 Question Id : 67809418015 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which of the following 1s standardised as [EEE 13647

Options :

1
. O+t
. Javg
s

, Vverilog

Question Number : 193 Question Id : 67809418016 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Whiich level sunulates the algorithms that are used within the embedded systems?

COptions :
. Gate level

CSwitch level

-

Algorithmic level

| Circuit level

i

(Question Number : 194 Question Id : 67809418017 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
gcol legedunia:
India’s largest Student Review Platform

]

consists of a central conductor and a shield




Fibre Cable
3 NMicrowave component

) Coaxial cable

Cuestion Number @ 195 Question Id : 67809418018 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which version of Verilog 1s known as System Verilog?
Options :

Verilog Version 1.0
1 .

Verilog Version 1.5

Verilog Version 2.0

3

Verilog Version 3.0

il Y

(Question Number : 196 Question Id : 67809418019 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vertlog HDL origiated at
Oplions :
. Gateway Design Automation
AT&T Bell laboratories
Detense Advanced Research Projects Agencyv(DARPA)

Institute of Electrical and Electronics Engineers(IEEE)

Question Number : 197 Question Id : 67809418020 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
L ]
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Options :

(underscore)
-
. — (hphen)
(pipeline)
3,

* (asterisk)

Question Number : 198 Question Id : 67809418021 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In C. the following statement 1s a statement

extern it 1:

Options :
. Definition

-

Declaration

| Function

L]

Friror

(Question Number : 199 Question Id : 67809418022 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From what location are the 1st computer mstructions available on boot up?

Options :

8 CPU
boot. 11

'ROM BIOS

-

gcollegeduniaa

]



Question Number : 200 Question Id : 67809418023 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A hard disk 1s divided mto tracks which are further subdivided mto

Oplions :
| clusters

. heads
VeCTtors

SCCTOors

L ]
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